B3

il

J

X=-60.0 X=-60.0
HEMHE-RR
(ER294E4 B 1 HIRYE)
R BER |RRIER
&S Hid4 (m) (m)
1= 577.9) 5.0)
2R 71.0 21
3B 100.0f 20)
L Bl 231.0) 2.5
e 239.0 23]
7)) IR 8.7} 1.9
8P RER 131.0| 4.8
10| iR 236.0) 3.6)
1) 83548 963.7) 6.0)
12|EER 1,870.0| 5.0)
13| EEER 1,159.3 3.0)
14| EEPHR 553.2 4.5
15| = EALR 331.5 2.5|
16 169.1 25|
17|EETHR 100.3) 20
18| EETIHR 702.3 4.0
19| SERR 2717 3.2]
20[5EPHR 849.5 30
22| 5ENR 474.0| 5.0)
1,858.3 40
24| LR 51.1 5.0)
. }k L \BA 400.0f 50)
2 B AL 26 g#ﬁﬁ 1,020.4 6.0)
s N 28|iRRER 1,518.3] 16.0)
20| = 827.3) 6.0)
31|FERIFR 571.6 6.0)
S| iEmiEs 3505 5.6)
3 ESHR 1.462.5 6.0)
K2 RIS 619.6] 45|
36| AL 330.7 6.0)
37| EEHR 585.5 4.0
X=-62.0 38 406.9) 40)
3o iRmE 501.7 4.7
40|/NEISTERR 89.6) 4.0
42| SEFER 111.7) 49|
/a1 S 206.6 40
44|/NEE2BHR 224.9 50
45| /NERASHR 276.0) 5.0)
46| =)L 381.0| 4.)
47| TTENTRAR 731.0) 4.0
48| KEF1 534 101.7) 4.0
29| ENNEXHR 47.4] 5.0
50):RE 1534 160.2 4.0
51| A5 104.6 4.0
52 EM25 %4 140.2) 50)
53| KiF2EXM 103.5) 4.)
54| BEF) 15 2R 7308 7.0)
55| KT 944.1 45
264.6] 25|
57| AR T 2005 6.0)
S8R 156.3) 6.0
59| INT RIS 121.0) 5.0)
60| 3B 328.0| 6.0)
3933 100]
62254 1,247.9) 5.0)
63f45 4 1,309.4} 50)
B SERE1SH 468.5) 5.0)
65| SERE2SH# 492.3) 6.0)
66| SEREI3SHR 111 6.0)
o 67| SEREASH 52.3 6.0
68| SERESSH 1103 6.0)
69| SEREEEH 160.6) 6.0)
AL 0 10| SERE7SH 106.4] 6.0
NS ERESSH 63.1 6.0
72| S EREOSH 298.8| 6.0)
AR R FULEEITHAER | : 25002 TEEASE R RIS £ 5 ) 1 : 1 0 E 000 TlssEmE 058 Y a7
vens T ERIT1S KR 39.5 6.0
(‘7 H‘}O Z(‘H} 'a(‘}(} 4(‘70 ‘7(‘}0 1 (7(‘)(7‘“ 75| ximaE R 99.2] 0]
| | | | | | ]




